
 



 

 



 

 

 



 

 



  



At what time 8 and 9 will the hands of a 

clock be together? 

A.  40 minutes past 8 

B.  43 1/2 minutes past 8 

C.  43 8/7 minutes past 8 

D.  44 10/11 minutes past 8 
 

 

 

  



At what time between 4 to 5 o’clock are 

the hands of a clock together? 

A.  20 minutes past 4 

B.  21 9/11 min. past 4  

C.  21 4/11 min past 4  
 

  



At what time between 5 and 6 are the 

hands of a clock coinciding each other? 

A.  22 minutes past 5 

B.  30 minutes past 5 

C.  22 8/11 minutes past 5  

D.  27 3/11 minutes past 5  
 

  



 

  



At what angle are the two hands of a clock in-clined 

at 17 minutes past 9? 

9  बजकर 17  मिनट पर घड़ी की दोनो ों सूइयो ों के बीच 

का कोण मकतना होता है? 

A.167 
𝟏()

𝟐
 

B.172
𝟏()

𝟐
 

C.166 
𝟏()

𝟐
 

D.176 
𝟏()

𝟐
 

 



At what angle are two hands of a clock in-clined at 

48 minutes past 12? 
12 बज कर 48 मिनट पर घड़ी की दोनो ों सूइयो ों के बीच 

का कोण मकतना होता है? 

A. 2640  

B. 2630 

C.  2650 

D. 2660 

 

 



At what angle are the two hands of a clock in-clined 

at 4 minutes to 12? 

जब 12  बजने िें 4  मिनट बाकी हो तो, घड़ी की दोनो ों 

सूइयो ों के बीच का कोण मकतना होता है? 

A. 220 

B. 200 

C. 210 

D. 230  

 

 



At what angle are the two hands of a clock inlined 

at 20 minutes past 5? 

5 बजकर 20 मिनट पर घड़ी की दोनो ों सूइयो ों के बीच का 

कोण मकतना होता है? 

A. 300 

B. 450 

C. 500 

D. 400 

 



At what angle are the two hands of a clock inclined 

at 10 minutes past 11? 

11 बजकर 10 मिनट पर घड़ी की दोनो ों सूइयो ों के बीच 

का मकतने मिग्री का कोण बनेगा? 

A. 900 

B. 850 

C. 950 

D. None of these / इनिे से कोई नही ों 

 

 



 

How many times in 36 hours both hands of clock 

overlap to each other? 

36  घोंटो ों िें एक घड़ी की दोनो ों सूइयााँ मकतनी बार 

सम्पमत हो ोंगी? 

A. 36 times 

B. 33 times 

C. 66 times 

D. 22 times 

 



At which one of the following times between 3 and 4 o’clock when the 

angle between the hands of a watch is one-third of a right angle. 

3  और 4  बजे के बीच मकस सिय घड़ी की दोनो ों सूइयााँ एक सिकोण का 1/3 

हो जाता है। 

 

 
 



At which of the following times between 4 and 5 are 

the hands of a clock 3 minutes a part? 

4  और 5  के बीच मकस सिय घड़ी की दोनो ों सूइयााँ एक 

दूसरे से 3  मिनट की दूरी पर हो ोंगी? 

A. 18 
𝟔

𝟏𝟏
 min past 4  

B. 26 
𝟓

𝟏𝟏
 min past 4 

C. 25 
𝟓

𝟏𝟏
 min past 4 

D. 25 
𝟑

𝟏𝟏
 min past 4 

  



 


